REVIEW FOR ABSOLUTE VALUE GRAPHING QUIZ
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. Direction/Opening Vertical Stretch, Shrink,
Function ) Vertex
(up or down) or None
a. y="|x+4/-9 ue (-4,-9) Shrink

b. y=-2|x+1|+6 dow (=1, L) Stretel

c. y=4x-3] +0 we (3.,0)| shetel

d.y=—1/2|X|+3 - ddUJV) o) ,3 ) Shrl\nK

e. y=-5x-8/-5 dowin (§ .-56)| Shukah

Describe all the transformations from the original function f(x).
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3. y=2|x-3]+20 4.  y=-a|x+1|-6
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7. Find the domain and range of each function (do not use a calculator!)

Domain Range
Q/\ a. y = |X| (, il 09) EOI 00)
Y\ b y=x (. oo)oo3 (-ooj 0]
~ . y=|x+2|+3 (_.64)00) Egjoa)
N ld y=x-5 (- 29, 0) [-5 o)
A\ e y=-x-9 (~°52°) (- o2, —9]
SV e y=—x-3]+10 (.—03 29) (- <o, /0]
8. Use the calculator to find the zero(s) and y-intercept. Rowrd fo -the huMna‘ch
a. y=%|x+1|—5 b. y=-3|x-3]+2
Zero(s): X= . 33 ) 253 Zerols;,_ X = 2. 33; 367
y-intercept: g = -35 y-intercept: g = -7

Circle all answers that apply.

9. Which functions have a horizontal shift:

10.  Which functions have a tL{r\éfnrg%’él)nt at (2, 0):

y=|x+2]| y=|x| +2 @.
“2,0) (0,2) (2,0) (2,0)

11.  Which functions have a range of (—oe,—3]: opend douwin

y=Ix-2|-3 y=—x+3]-1 y=-Ix| +3

12. Which functions have a maximum point? o0PLNS down A



Graph the inverse of the Absolute Value Function
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Graph an Absolute Value Function that has an

(start out with the original function Y
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relative maximum at (3,4) and is stretched by

a factor of 2.
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Sketch an absolute value function whose vertex is at (0,2) with the following end behavior:

15.

.|

As x— +oo then f(x)— +oo

S
s 2
2R
T e
= = 2
< 5]
5 8 m
= Q
N
8 )
I =
t oz 3
= 35
~ =) A
/ﬂ\




Given the absolute value equation graph, write the absolute value equation:
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x> 22, fixy->-=2

o9 uf(x)—a -0
X s 20 L) »>—0

!
R
3
a4 -~
N P L
I \/3 q,:5 mﬂ.ﬁm _ ~ = mﬂLw .
- -~ “+» A/
3!‘-— " ~ . )m, - a ~ Q—JIW N\ l,w -\
I ~ " —+© 3 $ 1) bl T N 3 IRIR x
< T \ ./L( <= II—L =T \ A
/I\m " N, . ~ 0 VYR }
..LX . FaYe) 9 (.I x ( . Bb .m
) = N g ¢ z o =3 . & < 3
v O TR v [oa) v o [ TR g [aa)
£ o =) g X 9 5 £ o —Ee) g 9 5
I T O £ 5 S § ¢ o 2 I g O £ 5 S § © & 2
© > n > N 0 ¥ £ 0O w._ © > wn > N N xx £ 0O i
+ T T T T TET T T Ty Tt T T Tt or
o+ o+ o+ 4 +F o+ o+ o+ o+ o+t o+ o+ o+
w++++++ W++++++++ I
AV++++++ p++++++++ + o+ o+ o+t
o+t + 4+ o+ + o+ttt +
R R + 4+ + 4 o+ o+ o+
St T + + o+ 4+ + + o4+ 4+ o+t
o+ o+ o+ o+ o+ o+ o+ o+ + o+ o+ o+ o+t
AﬂJQJ + 4+ + 4+ + + lTlTlel.&ll.W-
u+ Y o+ o+ o+ o+ o+ X e R
T E 3
OF_ m/++mm++ H ++Mu+++ ++nw++,%++.__
% R EE R EEL TE e QAN /AW#++++++ N R
o T LR nV—-_ o+t o+ o+ o+ N+ ++++ 4+
| R EEEEEEL TR I = ot o+ o+ N
1l R EEEEEEL R EEIE I I — | N R S T T A
\vnw/ R E R R M_u++++++++ | o+ o+ o+ .,%++++++++
N2 R R L T EEE e i + o+t ++ e 4+
~ R R L T EE T e ~ e e
A I I I M,++++++++ R R




\N
P w
Il | ] Q ) Q ) .v
= \ ~ >y ) Nl
" G @3 )} e

I3 g & o8 Bo &
-~ .. 8 = £ 3 ) Q x £ 3
x Q o N s O % % b .. = .. = o % %
28 £ 8 E 2 9 5 2 8 28 E D 0 5
I S O £ = S S G & 5 8 £ = 5 S C ®

v = | [«)] 3] v X T [ 3]
«© > o» > N N x £ 0O > » > N O x £ QO
44*44444” + T+t T 4++4++4+ﬁ +T T T T T Y
+ 4+ 4+ + 4+ + 4 + 4+ + + + + + 4+ + + + + + + + + + 4+ + + + +
+ 4+ 4+ + + + @+ F + + + + + o+ + 4+ + + o+ + + + o+ 4+ 4+ + o+
+ 4+ + 4+ + + + @+ + + 4+ + + + + 4+ + ++ + + 4+ + + + + 4+ + + +
+ 4+ + +F @ + 4+ 4+ + + 4+ + 4+ ++ + 4+ 4+ + 4+ + 4+ + + +
+ + + + + + + + + + o+ + o+ + o+ + 4+ 4+ + 4+ + 4+ 4+ + + 4+ 4+ + + +
+ + + + + + + + 4 + 4+ + + + + + 4+ + o+ o+ + 4+ + 4+ + +
+ 4+ + ++ + + 4+ + + 4+ + o+ o+ + o+ ot b+ + o+ o+t b+ o+
++ 4+ + + + + o+ + + o+ 4+ 4+ + 4 + + o+ + + + + 4+ + + + + +
+ + + + + + + + + + o+ 4+ + 4 + + + + + o+ + 4+ + o+
AV + + ++ e+ + + + + ++M/ + + ++u_J++,.%++.._
On/~ + + + + @+ + + + + 4+ 4+ + + 4+ + + + + + + 4+ + + + o+ + o+
| + + + + + + + .ﬂ_:. + + + 4+ 4+ + + + + + ..u_,.++++++++
vﬁjﬂ R L R + + o+ + temt + o+ o+ o+
L_ + + + o+ o+ + o+ + + + + + + + + + + + 4+ + 4+ 4+ + + + + + +
= + + + 4+ + + + .,.%,.. + + + + + + + + + + %++++++++
Il + + + 4+ + + + + + + + + o+ + + + 4+ + + + o+ + F ++ + ++
~ + + + 4+ + 4+ 4+ + + + + + + + + + + + 4+ + 4+ 4+t + o+ 4
+ 4+ + + + + + .m/._. + + + + 4 + + + + + nﬁ++++++++
e a e a4 s .. e e e a

)
)

L -2,00)
-3)

2)

End Behavior: X"7 "'00; f“)é’ 9

0

V)

Lo, o0)

-

(-m)
X =29 , L(x)—>9

X > 29, Jﬁ[x\-oco

o0 oo
OO0 o9

(»,-2)
y=1I
(2, 0°)
(0, ¢2)

End Behavior; X =2 =99, V[Z)C) > o9

4 a2 a4 a4 a4 o 4 o+ o+ a4 o+ a4 o s




5 7[0()—) o
X =200 -,[}x)-Q.OO

oo

k =

)

_q)
End Behavior: X =2 — <9, 7[)(,'() > <

7[’[)() > od

Q
\ N\ w »
QN ~ dl N\
1' & 0 — 7 \ 4 N
O 7N\ 1 Q ~ ) u, w 1
9 N ~ ..@ AJ Q | S UId \./
o\ W w + O < I du sl & >y o
VI- ‘b S— 3
< DI% n \ ) N U < \ ‘ \ 0/.[
o .. o ..
i 5 . o 2 2 3 g 2
2—5 Q c £ wn N -_— @ c £ 3
£ S s v & 9 g % s T U o8 S
o 9 L v £ 8 0 = o0 v @ L v g o0 QO &
I = ° [ =
o 2 T 0 e s 2 2 < o 2 T O e g 2 9
© > un > N 0 ¥ £ 0O wi @ > on > N 0 x £ 0O
Tt Tt Tt ot T T T oror + Ty T T T T T T T
+ o+ + o+ 4+ + 4+ + + 4+ + ottt ANt + o+ + o+ + +
+ 4+t 4+ 4+ 4 + 4+ + + 4+ + T+t + + temt + + o+ + 4
+ 4+ o+ o+ + o+ + 4 + + ottt 4+ 4+
+ 4+ 4+ + 4+ o+ + + o+ + + + T+t + 4+ O+ + + o+ 4+
+ 4+ 4+t + 4+ o+ + 4+ + 4 + ++ et + + o+ 4+
+ 4+ttt + 4+ + + + + + ottt et + o+ + 4+
+ b+ttt o+ N+ + + + + + 4+ + + A+ 4+ + + o+
+ o+ + 4+ o+ 4+ + + + + LRI R R N I I
++ + 4+t + + + + + + + + + + + + + + + + o+
++ P+ + Dy 4 T+ o+ Q P+ + Po ++nw++%++mv
+ 4+ + 4+ 4+ + o+ + + + + + + + + + 4+ + + + 4+ o+ + o+
\© + 4+t o+ + 4 4+ + + + + + + 4+ + + v+ +++ ++
| —_— 1
_ + o+ttt o+ + o+ o+ o+ o+ < + + 4+ + T+t 4+ttt
= + 4+ 4+ 4+ + 4+ + o+ o+ o+ o+ + + 4+ + + + + ++ + + 4+t +
Ol n + 4+ 4+ 4+ 4 + 4+ + 4+ + o + + + + 4 %++++++++
Il ++ 4+ o+t o+t o+ + + 4+ + + ] + + + + + 4+ + 4+ o+ o+ o+
~ + o+ o+ + 4+ + + + ~ + 4+ + + + + + 4+ 4+t + o+
+ o+ttt 4+ + 4+ + + + + + + .m_/++++++++
< Ln
N N







